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QUESTION 1

An architect is helping an organization with the Physical Design of an NSX-T Data Center solution. 

This information was gathered during a workshop: 

The company will use a Leaf and Spine physical network architecture with Layer 3 gateways for top of rack 

switches. 

The company is planning to deploy 120 ESX hosts across 10 racks. 

There will be a total of a 12 clusters where each cluster has one host per rack. 

What should the architect recommend to allow applications to run on any host in the cluster? (Choose the 

best answer.) 

A. Deploy all application networks on NSX segments. 

B. Deploy an L2 VPN to allow the networks to extend to each host. 

C. Deploy a Tier-0 gateway per Rack and configure BGP between racks. 

D. Deploy a Tier-1 gateway per Rack and configure BGP between racks. 

Correct Answer: D 

 

 

QUESTION 2

An architect is helping an organization with the Logical Design of an NSX-T Data Center solution. 

During discussions about centralized services NAT running on Tier-1 or Tier-0 Gateway, the customer made these
requests: 

Services contain stateful services. 

Services should be in high availability mode. 

Which two selections should the architect include in their design? (Choose two.) 

A. An active/active model should be used. 

B. Use Reflexive NAT on the uplink interface. 

C. DNAT should be applied on the uplink interface. 

D. Mix stateful and stateless NAT rules on the same gateway. 

E. The high availability mode supported is only Active-Standby. 
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Correct Answer: DE 

 

 

QUESTION 3

An architect is designing a solution for containerization. The solution will include high availability and security using NSX-
T Data Center. The architect plans to provide a basic required components list in the Logical Design. 

Which solution should the architect recommend? (Choose the best answer.) 

A. 3 NSX Managers, 3 virtual NSX Edges, two Tier-0 gateways in Active/Standby, BGP configuration 

B. 2 NSX Managers, 2 virtual NSX Edges, one Tier-0 gateway, BGP configuration and a static route 

C. 3 NSX Managers, 3 virtual NSX Edges, one Tier-0 gateway and a static route and OSPF 

D. 1 NSX Manager, 2 virtual NSX Edges, two Tier-0 gateways in Active/Active, BGP configuration 

Correct Answer: A 

 

QUESTION 4

Which three choices are part of a Design Approach when discussing design alternatives and their effects? (Choose
three.) 

A. backup 

B. budget 

C. cost 

D. performance 

E. knowledge 

F. security 

Correct Answer: DEF 

 

QUESTION 5

According to the Discover Task of the Engagement Lifecycle, which statement would be classified as a risk? (Choose
the best answer.) 

A. Enough power and cooling capacity is available in each rack in the data center. 

B. To retain certification to provide financial services to end customers, PCI-DSS audits need to be passed. 

C. A merger and acquisition process was recently completed and new company on-boarding is not completed. 
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D. Due to existing contracts and purchase agreements, the existing server hardware needs to be reused. 

Correct Answer: B 
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